Multiplication de Monomes et Polynomes (E)
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Simplifiez chaque expression.

4d(9d® +2d + 1)

- 2¢°(5¢° — 4¢* + 8¢°)

- 9m?(2m? 4 2m — 4)

(=9¢" — 5ct — 3¢ (4% — 4c + 8)

—4h*(h* + 3h?)

(=Tt 7 20 (=0 4 9t 4 6rY)

- —6b°(—6b" + 3b" + 5b°%)

(»* —8p)(—8p — 1)

3a(—2® — 2t — 62%)
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Multiplication de Monomes et Polynomes (E) Réponses
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Simplifiez chaque expression.

4d(9d® +2d + 1)

— 36d" + 8d° + 4d°

2q3(5q 4q + 8¢ )
= 10¢® — 8¢" + 164°

Yt (=20 - 3y)

= —2y% — 3°

9m*(2m® + 2m — 4)

— 18m* + 18m? — 36m?

(—9¢” — 5¢* — 3¢*) (4c* — 4c + 8)
— —36¢" + 16¢° — 64¢° — 28¢* — 2463

—4h*(h* + 3h7)
— —4h" —12R°

. (—77“4 + 73+ 27“2)(—7”5 +ort + 67“3)

=7r? —70r® + 197" + 60r% 4 121°

—6b°(—60° + 3b" + 5b°)
= 366" — 187 — 3088

(p —8p)( 8p—1)
— —8p° 4 63p* + 8p

0. 3x(—a° —2? —6:1:)
= 320 — 32° — 18¢*
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